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700 |54 .900. £ H:9.900
400 |52 00, £
R CRE)=REW EEACT:ES .400 7 10.700
400 | 7 10.700
400 | 7 10.700
100 | 6 £H:11.900
700 | 65% | A:13.200, %:14.400. £:11.000, H:11.900
[EINES 400 | 71% 1.000
1200 | 66% 1,500, £:11.900. H:11.000
400 | 71% H:10.700
700 | 65% 3.900. £ H:11.900
700 | 65% |A:13.200, %:14.800. £ H:11.900
RERCAE)=LS RRCAE) & [ J .200 70%
500 | 58% |A2:15900 F H:12.200
400 | 58% 5.900. £ H:12.200
200 | 59%
400 | 66% 200
400 | 66% 200
000 | 62% -200
500 | 61%
EB% 900 | 68%
000 | 62%
200 | 70%
200 | 70%
600 | 63%
600 | 63%
000 | 59%
000 | 59%
RRCRE)=HE RECRE) & ,400 61%
600 | 49%
600 | 64%
600 | 66% :12.100
500 | 52% |£H:18,000, £:14,000
HER 400 +11,400
,900 5,300
,600
,000 :18,500
1500 :18,000
RR(PE)-ES R (FE) % | JL 600 :10,900, £1:11,100
,600 :10.900, & +:11,100
,000 211,100
,000 100
,600 ,900. £ H:11,100
,600 ,900, & H:11,100
,600 900, £:11,200, H:11,700
EEFHE .200 0
700
200 1,000
600 1200
,900 200
,900 200
,900 :11,200
RRCRE)=8% RECPE) & ,200 00, H:11,100
,200 .100, H:12,100
600 12,400
200 500, £:12,100. H:14,300
,000 100, H:15,700
B ,700 .200, £:11,700, H:11,600
,600 100
600 12,400
,700 ,600. £:13.300, H:14.900
200 ;
R CRE) =l RR(CRE) .100 X
,300 114,700, £:15.800,
,300 £ H:12.600
.700
,300 700 +:14,300,
,000
PAITES 000
200 | 63% | +:14,700. B:11.000
.600 70%
200 | 68% |£:13,600, & H:12.600
500 62% [:15.700, £:13,000, H:16.300
500 62% [:15.700, £:13,000, H:16.300
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4 B
=) E5 | mAl =5 £
R ERE B3R W&
AR (FE) =R FFR)| ®BR(PE) & [ 3500 | 66% 116,800, %:17.000. £:17.100. H:15.300
6.800 | 58% |%:17.000, £:17.300. H:15.300
7.000 | 57% |#£:20.900, +:22.900. H:16.000
300 | 52% 1300, £:26.700. H:16.800
300 | 52% 1300, £:26.700. H:17.000
300 | 52% 1300, +:26.700. H:17.000
700 | 58% | A:17.000. %:20.600, £:19.400. H:17.300
500 | 64% :
100 | 62%
100 | 62%
300 | 62%
300 | 62%
800 | 60%
100 | 57%
100 | 60%
100 | 62%
T| 20000 | 50%
FLIR (B %) 5 .500 61%
500 | 59%
600 | 61%
500 | 64%
000 | 65% 600, £:15.100.
000 | 65% 600, £:15.100.
500 | 61% 600, £:16.100.
100 | 55% 300, £:17.100. H:22.800
100 | 55% [2::19.300. £:17.100, H:22.800
400 20,000, £:17.100, H:23.300
400 20,000, £:17.100, H:23.300
400 20,000, £:17.100, H:23.300
200 [£:20.000,
700 | 58% 8900,
100 | 60% 7300,
000 | 67% 116.600.
600 | 58% 8.200
KR (B =FLIR (37 F )| ABR (BE) % | J 100 | 57% 20,900, £:22.700. H:17.300. H:9.700
600
600
LR BT i) 34 .300
300
T| 20400 | 58% |2:19.600. H:21.700
RER ()= KR (B % 1| 20800 | 49% 22.100. +:23.500. H:18.100
[J 10700 | 74%
L: 9.700 76%
S (BB % | L. 9700 76% | H:15.500
800 | 61% [:19.500. %:14.400. £:15.200. H:21.900
000 | 49%
TRME=HLIR G F ) RS .900 68%
400 | 73%
LR BT i) 54 .400 73%
.900 | 68% 19,
R (CHE) =K RRE(FE)%E [ J .900 | 60% 8.900. £:20.600. £:24.200
400 | 50% |K:16.400, £:17.000. £:18.600. H:18.000
1| 20000 | 47% :21.700, £:20.100. H:22.300
B 1300 | 62%
.900 | 60%
900 | 42%
FRCRE)=E EEACT:ES .400 52%
400 | 49% 6.200. T H:11.400
300 | 59% .
700 | 54% 1400
MER 400 | 49% 1400
300 | 59% 400
500 | 52% 1400
200 | 49% 1400
R CRE)=EW EEAC RS .400 7
400 | 7
400 | 7
100 | 6
900 | 64 3.400. %:14.400. £:11.000. H:13.800
[EINES 400 |71 1.000
400 |66 1.500. £:13.600. H:11.000
400 | 71% H:10.700
900 | 64% 3.900, +:12.400. H:13.800
,900 64% 13,400, £:14,900, H:13,800
RRCAB)=LE RRCAE) & [ J .200
400
400
200
600
600
000
500
[ES ,200
000
1200
200
600
600
,000 )
,300 200, £ H:14.100
RRECPE)=ES RECRE) S| J ,800 100, % 1:13,300, H:11,900
800 £:13.300, B:11,900
200 3:12,400
200 2,400
800 H:13.300
800 H:13.300
,800 13,300, H:13,700
EEES 700 113,100
700
700
600
100
100
100
RRCRE)=8% RE(CPE) ,100 t:15,100, H:12,000
100 +:16,100, H:13.000
,800 . £ B:14,300
,800 +:13000, H:16.100
,000 . H:16.700
RS .400
400
800
900
600
R CRE) =l RR(CRE) .100
500
400
700
600
,000
NI 1,000
500
600
400
500
500
BEE (RN =FLIR (F TR 2 & 2 (D) 34 .800
300 100, X
300 7.100, B:15.100
,900 :17.900
,900 :15,900
FLIR (BT %) 3 .900 .700, H:16.200
,300 100, H:17.100
1600 100, £:15,100
7,600 100, +:15,100
5300 1600, +:15,100
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7/24-31
B A—FER
E
HR CHE)=fLI (3 F &) 3= CHE) % K:16.800. 2:17.000. £:17.100, H:15.300
300. 300, H:15.300
16.
00, £ 00. 16.800
.800. #:21.300. +:26.700. H:17.000
700, H:17.000
H:17.300
FLIR (B F i) 3e_J
.200. £:18.900. H:23.300
600, :17.300, +:15.800. H:19.500
00
KR () =8 M) | AR (B 3
TR E % | J
TBRE-ALIE B TR S
ErIeEs)
WRCAE)-BIE | R (HE) % |
EE)
B2 R CAE) % |_J
HESE
E3
RRCAE) =AW | "R CAE) % + H:10.700
.900, &+ H:10.700
.900. £+ H:10.700
.700
400, :13.400. £:11.000. H:13.800
EIES 0
2:11.500. £:13.600. H:11.000
.900. &+ H:10.700
.900. £:12.400. H:13.800
| J 13.400, #:14.900. H:13.800
RRCAE)-LE | RR(AE) % | _J 800
100, .800
(]
RROPE)-HE | RR(AE) % |_J
HER
{ o H:19.400. 1:18.000
RROPE)-E8 | RRAE) % 3,100, % F.13.300. B.11.900
3.100. +:13.300. H:11.900
£:13.100, & H:13.300
13.100. £ H:13.300
H:13,
BR%E
RRCPE) =B | RRAE) %
T
[y 000, £:13.31
RRCPE)-BH | RRAE) % 800, +:15.100, 12,000
. 1+:16.100, H:13.000
11,900, 1+ H:14.300
14,800, 1:13.000, H:16.100
00
BRI
f— H:16.700
0
RRCAE) =L | RRCAE) %
[ 600
[J 316,600, +:13.400, H:17.200
PITES [ 500, H:11.400
3.0(
S (PEh AL (B 7 1 2 2 (P ) 3 0. 22300
AL (BT B 5
55E1 A |
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E—7H
3% ol
48%
48%
48%
48%
48%
48%
54%
56%
54%
57%
56%
56%
54%
52%
54%
57%
48%
58%
56%
58%
58% 5
60% :17.700, 1:17.200.
60% 700, £:17.200,
58%

57

R CRE)=#LIE T F&%)| R CHE) %

LR (B F %) 5

8.700, +:16.500.
:17.700, £:15.500,
56% :19.300

KR (251 =ik (RFR) | RBR(FFD & | J

o IV 5 | UL

57% | H:19.500

1ER=ALIR (T F ) [EES 69% [£+H:19.700

ALIR (BT F i) 7

RECPE)=EE RECRE) S| J

A:24.200
:27.000. K:27.700
21.600. 00
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FH )
=M ®E | BAM 1 A FR
R B REI= W&
RIR (D =548 (IRE) | KB (Fh 36 19600 | 52% |H:18.000. %:23.700. £:22.200. H:20.700
T 10700 | 74% |A:
700 76%
L I ) 3¢ | J 200 | 70% |
100 | 53% 0
700 | 52% 0
BE=LIE TR 18RS .900 70%
5400 | 74%
FLI (BT ) 34 55 6.000 | 73% |
S55EAT | 20900 | 65%
R CHE)=#E RRCFE) 5% 55 100 | 53%
55 700 | 51%
55 600 | 61% 0
55 200 | 56% 1 H:16.100
TREFE 55 400 | 49% 100, %:15.500. £ H:10.700
55 400 | 62% 400, %:13.100. £ H:10.700
55 100 | 53% 200, & H:10.700
55 200 | _49% 300, £ H:10.700
RIR (7 =BtE KllE () 5 55 700 | 51%
AR S5EAT | 20600 | 55%
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v 8/25-31
= B5 | BAB —% AR
R B REI= W&
KR (D) =48 (IRE) | AW (FAH 36 | J 55 19600 | 52% |%:21.000. T:24.900. H:17.400
[ [ 55E 81| 10.700 | 74%
JL 55 700 76%
R GRE) % [ 55 200 [ 70%
[ 55 300 | 56% | +:16.500, H:18.900
J 55 %:19.200, %:17.900. H:20.400
BR=LI% (T F8®) EEEE I 55 900, F H:22.700
J 55
LR G i) 54 55
J 55 22,700
R CHE)=#E RRCFE) 5% 55 2.500. £:12.600. H:11.400
[J 55 2.600. H:11.400
[J 55 +11.400
55 :14.400. £ H:11.400
HEFE 55 15,500, + H:11.400
55
55
55
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7/14 7/15
Al | A

F#
=40 B2 | WA

R (CFE) =R T R))

S|

ALOR (T F %)

‘°‘°|

— 8.000_|

[J 200

— 3.000 |

700

100

100

100

[J 100

[J 100

[J 100

[J 100

[J 200

[J 100

[J 100

[ J 8900
WRCAB)-ME | RR(AE R [ J 500 | 1 3500
[ 26500 | 1 3800

20700 | 1 3800

[ 30700 | 13300 | 14.000

[ 30700 | 13300 00

700 | 12800 200

700 | 12800 00

300 | 12800 200

300 | 1 100

300 | 1 200

300 | 1 700

300 200

300 800

800 800

800 800

800 800

800 500

[EEES 500 00
500 00

500 800

800 00

800 00

500 00

500 900

000 900

300 900

300 300

800 300

800 1800 | 30300

500 0| 21.800

500 0| 21.800

800 0| 21.800

200 0 900

[ 000 | 14300 | 29.100
RR(FEE)% | J 700 9.000_|_19.000
600 | 22700 | 22700

600 | 22700 | 22700

600 | 23700 | 23700

500 | 22700 | 22700

500 | 21700 | 21.700

700 | 21200 | 21200

200 | 20700 | 20700

4200 | 19700 | 17.700

200 | 18700 | 00

700 7.700_] 00

1 1400 | 17700 | 17.700
A 5 | 700 | 19700 | 22700
700 | 20200 | 23.200

700 | 21.700 | 24.700

700 | 21.700 | 24.700

700 | 24400 | 27.700

700 | 26400 | 37600

700 | 27700 | 39600

700 | 27700 | 39600

700 | 27700 | 39600

700 | 27700 | 37200

700 7700 | 32,200

700 | 25900 | 26700

KR (PR -ARFTR)| ARGFDE [ 700 | 21000 | 18900
700 | 21000 | 19900

800 | 21.000 | 20300

800 | 19.900 | 20600

500 | 20900 | 22900

700 | 19800 | 20300

LR TR ) 5 800 8700 | 700
000 | 20200 | 21,000

000 | 23000 | 27,000

900 | 23000 | 37,800

000 | 25800 | 39.700

[J 000 | 25800 | 38700
ENACTE 000 |20.900 | 16,900
500 | 15600 | 15500

500 | 15600 | 15500

AL ) 5 400 | 18200 [ 18200
300 300 | 18200 | 22700

600 | 22300 | 23700 | 34300

WE=ALIR BT e 000 | 40.300 | 20700 | 21.200
200 | 37.700 | 18200 | 23700

FLER BT R 36_JL3510 | 2800 | 23700 | 22300 | 42,900
300 | 21.200 | 24800 600

ERCPE)-KAR | B (AE%E | J 000 _|30.700 0 400
200 | 33300 | 18500 | 24.300

300 | 24300 | 18000 | 25500

KAAIR 500 | 24300 | 18000 | 34500
500 | 24300 | 18000 | 35800

800 | 20.700 0| 35100

R CRE) =) HRCAE) R [ J 900 | 30700 [ 27.700 7.700
000 | 33600 | 29.000 | 29,000

700 | 19700 | 12900 | 27.800

700 | 19700 900 | 27.800

(IS 400 | 24100 | 13400 | 22200
400 | 23300 | 17.000 | 34.300

400 | 28800 | 31.100 | 35800

000 | 22700 | 19.200 | 31.000

ERAE)-HIE | RRAE) R 00 | 30700 | 18.400 | 22,000
00 | 26400 | 23600 | 24300

000 | 21.400 | 20400 | 23,900

EEES 400 | 28600 400 | 22100
500 | 27500 | 24500 | 24500

00 | 23900 | 19700 | 24.000

HR(AE)-®E | RR(AE) R | J 00 | 31400 | 18400 | 22.100
00 | 25800 | 18900 | 22.100

00 | 25800 | 18900 | 22.100

3800 | 20.400 | 32,600

HILFE 1.600 400 | 22.700
900 | 19.900 | 25200

900 | 19.900 | 25200

600 | 18900 | 25200
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7/13 7/14 7/15 7/16

- PR o M) ey ey et ey ey
3 EEE | EES | ERE | EEE
= (HE) W | _JL585 | 5580A1 | 25000 800 | 16500 00
[JLs87 | 55881 | 21500 400 | 17,000 00
589 | 55E A | 22.400 100 | 21.500 00
BEERSE | _JL684 | 55B1A1 | 15300 400 | 16.000 00
[Jis6 | s5mam | 19200 400_| 18,000 00
[ i | s5E a1 | 20600 100 00 00
WR(AE)-FL | R (HE) % | JL231 | 65EA [ 12300 400 00 00
[J233 | s5Eam | 11900 200 00 00
[JL237 | s5@an [ 11.700 600 900 200
[Ji230 | s5Ea1 00 800 00 00
241 | 55881 00 100 00 00
EWsE | JL2d2 | s5E AT 00 100 00 00
[Ji23a | s5Ean 00 500 00 00
[JL236 | s5Eat | 11900 900 | 11.900 500
240 | 55641 |_14.700 800 800 00
[Jioas | s5Ean | 14.700 100 00 | 14.300
KR (FH)=LES W (FME) % |_JL253 | 558 AN | 12.200 600 00 | 12200
[Jios5 | s5man | 12300 200 00 | 12700
[JLos7 | s5man | 12.700 700 | 14100 | 12900
[0 | s5Ean | 12.700 700 | 14100 | 13300
[Ji26i | soman| 12200 800 00| 13300
[Ji263 | s5Eat | 12200 800 00 | 15100
[Ji265 | s5E At | 13300 800 000 | 16700
267 | 55641 | 14400 800 00 700
hB% | J252 | 55841 | 12400 200 00 00
[Jios4 | s5man | 12400 700 00 00
[JL2s6 | s5man | 12200 100 00 00
[Jios | s5man | 12200 100 | 12200 | 14600
[J260 | s5Eat | 12200 100 200 | 15200
[Jio62 | s5Eai | 13400 400 00 | 15200
[Ji264 | 554t | 13400 100 00 | 15200
[ o6 | s5E a1 | 20400 300 00 | 15200
TR (B -BE | WRCAE & | JL277 | 55EA1[ 15900 700 00 | 15300
[JL270 | s5Eai | 20400 0_| 18600
[Ji283 | s5man| 17.400 700 | 14700 | 19800
[Jioss | s5Ean 00 800 | 13500 | 15200
287 | 55641 | 22,300 500 | 16,700 | 22,500
HER 276 | 55641 00 000 | 15500 | 14.800
[Jio78 | s5Eat | 17000 000 | 15500 | 16,000
[JL280 | s5Eat | 17.000 500 | 16200 | 23200
[Ji284 | s5Eai | 21300 10020200 | 23200
[Jiog6 | s5Ean | 19300 400 | 18.400 | 20,600
WRCAE)=ES | R (AE) % | JLa53 | 55E | 13500 500 | 13500 | 125500
[JLas5 | s5E a1 | 13500 | 14200 | 13500 | 12500
[JLas7 | s5E a1 | 13500 | 13500 | 13500 | 12500
[JLa50 | 65641 | 13500 | 13500 | 13500 | 13500
461 | 55641 | 13500 | 13500 00 200
00 500 | 13500 00
500 | 13500 | 13500 00
BaR 500 | 13500 | 12500 00
500 | 13400 | 12500 | 10600
500 | 13400 | 13400
500 | 12600 | 13400
00 | 13400 | 13400 | 13300
00 | 13300 | 13300 | 12600
500 | 13500 | 13500 | 12600
R (FE) =88 HR(FE) R 900 | 16.300 | 12800 | 12.800
700 | 18500 | 12800 | 12800
800 | 15200 | 12800 | 12800
000 | 13500 | 13000 | 14.900
000 | 13300 | 13000 | 16.400
400 | 13300 | 14700 | 18,000
100 300 | 16500 | 18.400
BT 700 400 | 12600 | 12.300
700 500 | 12600 | 12300
700 000 | 12600 | 12.300
300 900 | 13300 | 15100
300 300 | 13600 | 16100
00 800_| 13600 700
[y 700 100 | 13600 | 16800
R (FE)=8H RR(FEE)% | J 00 200 | 13000 | 13.400
500 900 | 13000 | 13400
00 700 000_| 16,600
00 800 100 900
500 600 0| 26,800
B 00 100 00 | 11.800
00 100 800_| 13000
00 600 | 11800 | 16200
200 600 | 16600 | 22100
[y 00 400 | 16600 | 20100
WRAB) R | RROAE) R [ J 00 800 | 13600 | 12600
00 500 | 13600 | 13600
00 600 | 13600 | 15000
300 | 15900 | 14.300 900
00| 15800 300 00
700 | 15800 0 00
TLE 200 | 19600 000 00
200 | 18500 | 14,000 00
800 | 15200 | 13800 00
500 | 15200 | 13900 00
000 400 100 00
600 300 | 15600 00
ERAB)-XS | RR(RE)R [ J 400 400 12.100 100
100 600_| 13000 00
600 600_| 13000 00
500 300 0 00
600_| 14.400 00 00
400 | 15400 | 14600 300
EZr ] 000 | 18600 600 00
00| 18600 00_| 14,000
00 | 15700 0_| 16,600
00 | 15700 0_| 16,600
00 700 0_| 18,600
00 500 0_|_18.300
R (FE)=-R& ER(PE)% | J 00 300 0| 13.500
00| 27.900 0_| 16200
800 | 23500 000 100
00 000 0 00
500 100 100 00
400 100 100 00
EE% 100 100 0 00
100 200 100
600 | 16,500 200
600 | 16600 400
600 | 16600 400
600 | 15400 200
B (FE)=REX ER(PE)% | J 800 | 18.100 200
700 | 20500 100
000_| 20500 600
600 | 20500 600
200 | 19500 800
500 | 16,500 600
100 600 800
100 600 700
(T3] 100 200 100
100 | 19200 600
600 | 18600 600
100 | 15600 100
600 100 200
600 100 600
600 | 16.100 500
900 800 200
R (FE)=-28 ER(PE)% | J 00 800 700
00| 20500 600
300 | 19.200 800
00 | 16,500 000
00 | 16,500 00
00 | 15500 00
B 00 | 19.200 00
800_| 16,500 500
00 | 16.300 00
600 | 16.000 700
800 | 14.400 000
600 | 13100 300
ERCPE)-ERE | B (HE)% 900 | 18:600 900
900 | 18600 900
600_| 18600 600
200 | 15600 600
200 | 15600 600
200 | 15400 100
900 | 15400 700
800_| 15600 800
ERER 900 | 18.700 00
100 | 16.300 600
400 | 16.100 00
400 | 15.400 600
00 | 13600 900
400 | 10,900 000
900 400 000
900 | 11.400 000
KR () - K (B 2 600 | _42.400 100
TfEE 600 | 20.900 700
B R (R E) =#LIR (BT F M| & & B (D) 59 300 100 5.600_|
000 100 300
00| 21.800 300
900 | 21.200 100
00 | 15400 100
LR TR 3 5800 | 18100 | 000
00 | 18100 000
00 | 23400 200
3114 | 55B A1 | 26.200 | 26.500 200
3118 | 5681 Ai 100 .400 200
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7/3-12
FH =475
) s | mAM DAETEE
® | mwa |5 00
51%
SR CRIE) =A% (31 F#%)| B (3E) % |_JL593 | 7 9.000 7% 1,500, 00,
[JLs01 | 7 000 | 75% |:14.000. 00,
[JL503 | 7 000 | 72% [A:14.000. %:14.400. £:14.500, B:1
[JL505 | 7 200 | 64% 000, 00 H:13.200
[JLs07 | 7 500 | 50% 400, 00, H:14.000
[JLs500 | 7 500 | 50% 400, £:23.700, H:14.200
L 7 500 | 50% 400, £:23.700. H:14.200
L 7 500 | 71%
L 7 000 | 72%
L 7 500
[ Jis19 | 7 500
[Jis21 | 7 700
[ Jis23 | 7 700
[ Jis25 | 7 500 | 69%
[ Jis27 | 7 500 | 66%
[ Ji520 | 7 500 | 69%
[ JLs31 | 7 000 | 72%
599 | 7 000 | _70%
FLIR (37 F2%) 3_JL500 | 7' 500 | 71%
[Jis02 | 7 500 | 69%
[ JL594 | 7 500 | 69%
[Ji504 | 7 500 | 71%
[JL506 | 7 000 | 72%
[Jis08 | 7 500 | 74%
L 7 500 | 74%
L 7 000 | _70%
L 7 200 | 62%
L 7 200 | 62%
L 7 600 | 61%
7 600 | 61%
7 600 | 61%
7 300 | 62%
7 900 | 65%
7 500 | 74%
7 9.500 76%
7 000 | 72%
BE=1LIR (TR [ES 7 .400 78%
7 900 | 82%
LR BT i) 54 7 .900 82%
7 400 |_78%
FRCRE)=R)I R (PE) % | JL 7 .700 60%
7 400 | 58%
7 000 | _72%
7 000 | 72%
FENIES 7 000 | _72%
7 500 | 71%
7 500 | _47%
7 .400_|_78%
RRCRE)=HIA RRCRE) % 7 400 | 70%
7 900 7%
7 900 7%
7 900 7%
HLRE 7 400 | 66%
7 500 | 68%
7 500 | 68%
7 300 | 71%
FR(CRE)=EE RRCAE) & [ J 7 700 69%
7 000 |_71%
7 300 | 50%
AR 7 9.400 75%
7 1.900 | 68%
7 7.000 | 55% ;
FRCRE)=E RR(PE) % 7 .200 66% :8.800
7 100 | 53% 4700 %:14.800. T H:0.600
7 .200_|_66% 8.800
7 400 | 50% 5.000. £ H:9.600
MER 7 .100 53% 5.500, F H:9.600
7 .200_|__66% 8.800
7 200 | 56% 4,400t H:9.600
7 .200 | 66% 8.800
KR (=B % KR (FFH) % 7 .800 78%
7 .800 78%
7 .800 78% | H:14.000
HEHR 7 800 78% |%:11,600
7 800 78%
7 800 78% | %:12,600, H:14,000
KR (D =MLE KR () % [ J 7 ,500 7
7 ,500 77% [X:10.700
7 ,500 77
7 ,500 77
7 ,500 7
7 500 7% | B:10,700
7 500 7% | H:10,700
7 500 7% | H:10,700
wazE 7 500 7
7 500 7% | £:10,700
7 7
7 7
7 7
7 7
7 7
7
BEE (RN =FLIR (I TR 2 o 2 () 34 7
7 % B
7 500 | 76% | H:13,000, X H:12,300, £:10,700
7 100 | 73% [T H:13.200
7 ,100 7% +
LR (B F i) 3 7 500 79% 2,300
7 400 | 77% .900
7 ,500 76%
7 500 76%
7 500 | 76% 1800
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T =5
R @5 | HAS R
mEig |E— 78
R| BB | g
RR (FE) =R FFH)| "R (WE) F [_JLs01 [ 7! 500 | 69% [A:16.100. :16.500, £:
[JL503 |7 100 | 60% | AK:15800. %:16.500
[ JL505 | 7 300 | 59% 20.200. £:22.200,
[JL507 | 7 600 | 53%
L509 | 7' 600 | 53% |3
L 7 600 | 53%
L 7 000 | 60% |4
L 7 500 | 66% |4
L 7 000 | 65% |4
L519 | 7' 000 | 65% |4
[JL521 | 7 200 | 64%
[JL523 |7 200 | 64%
[JL525 | 7 200 | 64%
[JL527 | 7 000 | 60%
[JL529 | 7 000 | 62%
[JL531 | 7 000 | 65%
1599 | 7' 500 | 66%
HLUE (37 T2%) 34_JL500 | 7 000 | 65%
[JL502 | 7 000 | 62%
[JL504 | 7 500 | 64%
[JL506 | 7 500 | 66%
L508 | 7' .000 7 E]
L 7 .000 7 E]
L 7 500 4 E2
L 7 300 7
L 7 7.300 7 600, £:16.400. H:22.100
L 7 7.600 | 56% 300, £:16.400. H:22.600
[ JL520 | 7 7.600 | 56% 300, £:16.400. H:22.600
[JL522 | 7 7.600 | 56% 300, 00, H:22.600
[JL524 | 7 7400 | 56% 300, 00. H:22.600
[JL526 | 7 000 | 60% 400, H:22.600
[JL528 | 7 300 | 62% 600, £:15.000. H:18.800
[JL530 | 7 000 | 70% 500, £:12.300. H:17.000
L598 | 7' 500 | 69%
KR (BE7E)=4LR (37 F )| AW (BAF) % | JL2501 [ 7 20300 | 58% 00, H:9.600
[JL2503 | 7 000 | 75%
JL2505 | 7 000 | 75%
FLIR BT i) $_JL: 7 .900 69%
7 900 | 69%
L: 7 500 | 60% [2:18,800. H:20.900
KR (R = KR () 5 |_JL 7 20100 | 51% [£:21.300, £:22.800. H:17.300
7 9.600 76%
L: 7 8.600 79%
S (IR 3¢ |_JL. 7 8.600 79% |B:
7 15000 | 63% [H: 13.700. £:14.500. H:21.200
7 20300 | 50% . H:22.800
1ER=ALIR (T F ) RS 7 .600 17% .600
7 900 | 82% .900
LR BT i) 54 7 .900 82% .900
7 .600 | 77% :14.600
Fm CHE) =181l RR (HE) % |_J 7 26400 | 43% .700. H:25.600
7 7.000 | 42%
7 7.800 | 62% 1.400. £:18.400. H:22.700
7 7.800 | 62% [Jkok: 18400, H:22.700
FEIIES 7 7.800 | 62% [Jkok: £:18.700
7 8200 | 61% [k . H:22.100
7 25300 | 46% | KA . H:28.100
7 .900 | 68% | K]
RRCRE)=HIA RRCPE) % 7 .800 65%
7 300 | 64%
7 300 | 64%
7 800 | 65% |2
ETR 3 7 300 | 62% [ kok:
7 500 | 64% ok
7 500 | 64% |kl
7 000 | 69% [k
FR(CRE) =& RRCAE) & [ J 7 .900 63% |A:
7 700 | 61% |A:
7 300 | 49% [%:
WS 7 400 | 67% |A:
7 900 | 63% [H%:
7 200 | 44% [A:
FRCRE)=E EEACT:ES 7 200 66% |+ H:8.800
7 100 50% [7K:15,800, %:15.900, + H:11,100
7 .200 | 66% |+ H:8,800
7 300 | 56% 6,100, £ H:11,100
MER 7 100 | 50% 6,200, £ H:11,100
7 .200 | 66% 8,800
7 200 | 53% 5400, £ H:11,100
7 .200 | 66% :8,800
B (P Em) = AL (3 7 | & & 2 (P ED) 34 7 900 | 48% 100, H:21,400
7 500 | 76% [ J3:10,700. H:12.300
7 500 | 76% |H:10,700, H:12.300
7 300 | 72% [EH:15,600
7 300 | 77% [EH:13,600
HLIE (F T 7 500 79% | H:10,000, %:9,700. H:12,100
7 ,600 76% | A:10,800, :11,900, :12,400, H:10,200
7 500 | 76% 1800
7 500 | 76% 1800
7 500 | 76% 1800
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[ JL503 100 60% [X:18.
[ JL505 .300 59% | :X:18.900, %:20.200.
[ JL507 .600 53% | :X:21.200, £:20.600. =]
L509 .600 53% | :X:21.200, %:20.600. 25900, B
L! .600 53% | :X:21,200, #£:20.600, 1:25.900, H:16.300
L! .000 60% [ X 9.800, 1:18.400, H:16.600
L! .500 66% | K .500
L! .000 65% | K
L519 .000 65% | K
[ JL521 .200 64%
[ JL523 .200 64%
[ JL525 .200 64%
[ JL527 .000 60%
[ JL529 .000 62%
[ JL531 .000 65%
L599 .500 66% :
L0 (37 F %) ${__JL500 .500 64% |KA
[ JL502 .000 62% P
[ JL504 .500 64% =
[ JL506 .500 66%
L508 .000 7
L! .000 7
L! .500 4
L! .300 7
L! 7.300 7
L! 7.600 56%
[ JL520 7.600 56%
[ JL522 7.600 56%
[ JL524 7.400 56%
[ JL526 .000 60%
[ JL528 .300 62%
[ JL530 .000 70% X
L598 .500 69% .000
KB (FFH) =548 GRER) | KBR ({FFF) F [_JL2081 20.100 51% 1,300, +:22.800, H:17.300
[ JL2085 9.600 76%
JL2087 8.600 79%
B (IR & [LJL 8.600 79% :15.100
15.000 63% :13.700, £:14.500, H:21.200
20.300 50% :19.400. H:22.800
BER G TR RER 12500
EEACE3E- IE 500
.600

FRCRE)=R)I RRCAE) & [ J £:28.700. H:25.600

1400, +:18.400, H:22.700
1,400, 1:18.400, H:22.700
1:18.400, 1:19.700

8.800. H:22.100
2
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00

RRCRE)=HIA R CRE) #

RECPE)=EE RECRE) S| J

EER
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mER

900 50% 100

[B 5 (&) =ALIRE (B T | & 5 2 (P ) 3 900 48% 1K £:26,100, H:21,400
500 76% 112,300
500 76% 112,300

FLIR (BT %) 3 10,000, H:12,100

800, 11,900, 12,400
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8/1-7
F# =i
R B2 | mAam — IIESEF
NI e
SR CRIE) =4LIR (31 F#)| BRE(FE) % [_JL501 | 7 .900 50%
[ JL503 | 7 .900 50%
[ JL505 | 7 .900 50%
[ JL507 | 7 .900 50%
L509 | 7 .900 50%
L! 7! .900 50%
L! 7! .000 57%
L! 7! .500 59%
L! 7! .000 57%
L519 | 7! .000 60%
[ JL521 | 7 .200 59%
[ JL523 | 7 .200 59%
[ JL525 | 7 .000 57%
[ JL527 | 7 000 55%
[ JL529 | 7 .000 57%
[ JL531 | 7 .000 60%
L599 | 7 .500 59%
FLW (BT 34_JL600 | 7 500 | 61%
[ JL502 | 7 .500 59%
[ JL504 | 7 .500 61%
[ JL506 | 7 .500 61%
L508 | 7! .000 62%
L! 7! .000 62%
L! 7! .500 61%
L! 7! .000 60%
L! 7! .300 57%
L! 7! 500 56%
[ JL520 | 7 .500 54%
[ JL522 | 7 .500 54%
[ JL524 | 7 .500 54%
[ JL526 | 7 .500 59% :
[ JL528 | 7 .000 62% :17.000, +:15.300,
[ JL530 | 7 .000 65% :16.000, +:14.300,
L598 | 7 .500 61%
KR (55 =48 GRE) | AR (F+F3) % [ L2081 | 7 400 55%
[ JL2085 | 7 .600 76%
JL2087 | 7 .600 79%
THl (IO 3 | _JL2084 | 7 500 79%
[ JL2086 | 7 .400 60% | H:18.400
2088 | 7! .400
TRME=HLIR G F ) e | JL3S 7 .400
L35 7! .900
FLIR (BT F i) $4_JL35 7 .900
5 7 .400
RRCRE)=HIA FRCRE)F [_JL573 | 7 28.400
JL575 | 7 27.100
JL577 | 7 27.100
JL57 7! 26.100
BELR JL570 | 7 23.300
JL57. 7! 21.500
JL57. 7! 21.500
JL57 7 20.800
FR(CRE) =& RECPIE)$ | JL685 | T 21.300
[uLse7 [ 7 22,400 X
JL589 | 7! .400 38% 25.900. A:26.600
BHEEH JL584 | 7 700 50% X:18.600. £ +:19.200
JL586 | 7 .400 48% [7k:19.100. A:19.700
JL588 | 7! .400 38% |7k:27.500. A:26.800
FCE G RECHE) % | _JLi6l |7 200 | 59% |7k £ F.12.300
7! .400 59% | 7K: 00, + H:12.300
7! .400 59% |71 .300
7! .400 59% |71 .300
TRER 7 200 _|__59% [ 300
7! .400 59% |71 .300
7! .400 59% |71 .300
7! .400 59% |71 .300
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8/18-24
FH =77
3 &% | mAm 1 DNRIER
R R REI= W&
RIR (D =548 (IRE) | KB (Fh 36 7 18800 | 54% |H:16.000. &:22.500. T H:19.400
7 600 76%
7 600 79%
R (R 5 7 900 76% | H:25.100
7 400 | 55% |%:16.500. X H:28.500
7 000 | 53% | H:21.200, %:17.900 T
BE-TLIE TR ERES 7 800 | 74% | H:20.300, * H:21.200
7 300 | _78% | H:17.800. £ H:18.700
LR (FT %) 7 7 900 | 77% [T H:23.000
7 400 | 73% | H:20.300. £ H:25.500
RIR (7 =BtE Kl () 5 7 400 | 54% |8+ H:20.300. £:23.000
AR 7 20000 | 57% [H:21.400, £:26.400. H:28.800
KB (BFH=H 7% KR (5 5 7! .800 78% |+ H:19.400
7 .800 78% | H:21.400
7 .800 78% | £:19.400. H:20.800
HHER 7! .800 78% [£:11.600, T H:14.100
7 .800 78% |+ H:14.600
7 .800 | 78% [£:12.100. £ H:14.600
KR (D =MlE KR () % 7 .500 7% [ £:19. 18.100
7 500 %:13.00. :10.200. £:19.300. H:18.100
7 500 +:18.300. H:18.100
7 500 E
7 500
7 500
7 500
7 500 E
wazE 7 500 ES
7 500 ES
7 500 ES
7 500 ES
7 500 FH:12
7 500 EH:12.400
7 500 £:13.900, £ H:12.400
7 500 £:13.900. £ H:12.400
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v 8/25-31
) s | mAM 1 DAETEE
R R REI= W&
KR (7 =48 (IRER) | AW (#71) 3 | JL2081 | 7 18900 | 54% |%:20.300. T:23.600. H:16.700
[JL2085 | 7 600 76%
JL2087 | 7 600 79%
S (BR%R) 3¢ | JL2084 | 7 900 76% | H:10.900
[JL2086 | 7 7.600 | 67% |E:15.800. H:18.200
JL2088 | 7 000 | 53% |%:18,500, %:17.100. H:19.600
BE-ALIE (T ) Mm% | JL3513 | 7 400 | 73% [£:20.300. £ H:22.100
JL3515 | 7 900 | 77%
FLIR (BT F %) $4_JL35 7 .900 17%
JL3512 | 7 400 | 73% 22.100
R CHE)=#E RRCFE) 5% 7 500 | 56% 000, £:12.500. H:
7 200 | 53% 2.500. B:11.100
7 000 | 63% 11.100
7 700 | 58% 900, £ H:11.100
HEFE 7 900 | 50% 000 £ H:11.100
7 900 | 64%
7 500 | 56% |4
7 500 | 52% |&:
KB (BFH=H 7% KR (5 5 7! .800 78%
7 .800 78%
7 .800 78% | H:12.100
HHR 7 .800 78% [£:10.900
7 .800 78%
7 800 | 78% |£:11.400. H:12.100
KR () =MlE KR () % 7 .500 i
7 500 X:10.200. %:13,000
7 500
7 500
7 500
7 500 H:10.200
7 500 5:10.200
7 500 H:13.900
wes 7 .500
7 500 £:13.900
7 500
7 500
7 500
7 500
7 500 7% | H:13.900. %:13.000
7 500 7% | 2:13.000. H:13.900
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FH SEE
=M w5 | mAm e PR 5
B| ERE | hTe E
R (=R EACEES 1 800_|_76%
7! .800 76%
7! .800 76% | H:11.400
) 7 .800 76% |£:10.900
7! .800 76%
7! .800 76% |#H:11.400
RG-S | AR (T % 1 500 | 75%
7! .500 75% | X £:13.000
7! .500 75%
7! .500 75%
7! .500 75%
7! .500 75% | H:13.000
7! .500 75% | H:13.000
7! .500 75% | H:13.000
Wa% 7 .500 75%
7! .500 75% |1:13.000
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7! .500 75%
7! .500 75%
7! .500 75%
7! .500 75% | £ H:13.000
7! .500 75% |#£H:13.000
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